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Time : 3Hrs. Sem - V/Arch
Arch & TP

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. Write short notes on any two of the following :

(a) Industrial zone
(b) Recreational zone

(c) Transition zone

fr=fafaa & @ fedl @1 wr dfera e fora:

(& sitenfre <=
(@) TR S

(&) uRa<t= <+

OR (312141)

Write in detail about low cost housing.

®H Td drd A R fawr 9 ford |

0T5060

(i)

(iii)

(iii)

(iv)

3 37503

Rig ardl awar 4 98 WS Bl .
qrnt ¥ faafora fear smar e

@) T®

@ <«

(w) =

(|) IR

The concept for garden city was given by ......
(a) Ebenzer Howard

(b) Le Corbusier

(c) Barry Parker

(d) None of these

TS R &1 8w ... S fear e
(31) TSR gEe

@) N—argRraR

(&) ¥ grev

(€) 379 94 @I 7T

Object of town planning is ............
(a) Beauty and convenience

(b) Environment and health

(c) Both (a) & (b)

(d) None of these

P.T.O



O'Ld

| R [ MDAR) b A @ lkiojk SBabl

‘Suruued pooyroquSIdu INOQE [1eI9P UL ALIA

(IlprR)AO

| 2 lkalke

B DD & lkdbke ®SR | M®HK Laklb]

"W)SAS 1001S JO sadA) JUSISYIP [1BIJP UI QLIS

¢ 2 bRl Irp
—lkp ® kLjUs | QDb DIBR| kR & kljus

(, Su1uoz jo so3ejueApe oy}

a1e 1ey A\ "Suruoz jo Jedrourd urewr o) UONUIN

€0SLE LY 090S.LO

9say} Jo duoN (p)
J10M (0)

pmo1) (q)

pueT (e)

-asodind ogroads 103

"""""""" Jo uoneoo[e syussaidor Suruoyz

Ak (B)
L (B)

e (®)
@ (1)

mo4 (p)

daxy[, (9)

omL, (q)

auQ (e)

'SQdA1 .................. 9.112 SI{QA.IHS

1Bl Bl B kb (2)
(B) bd () L2 (B)
kedb b lodbIPIb (k)
1B ph 1babR (le)

(18)

(»)

(4)

(A1)

€0SLE



37503 16 0T5060

g ardl |wdar &1 A1 1 GHeudT g4

Yq-] P AT BN |
OR (3121a1)

Why surveys are done ? Describe in detail types

of surveys conducted for town planning.

aderor = fear wrar 27 e A &
foe fed o1 91l ad&vT @ YhR Bl
faer 4@ gusy |

Explain garden city movement in detail.
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(vi)

(vii)

(viii)

5 37503

SifsT fafdrse Sevg & forw Cal
qicd & IR ¥ Idolrar 2 |

(31) o=
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The vehicular traffic is not allowed to move

(a) Pathways

(b) Streets

(c) Local roads
(d) None of these

() 39 9 BIg e

In.ooeenn. road crosses each other at right
angles.

(a) Radial pattern

(b) Grid iron pattern

(¢) Ring road

(d) None of these
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4. Describe ribbon development in short. ®  ReT A ¥ wee —
4 (31) SeaierR
Re1 faera &1 dfera ¥ gasnyg | (@) afr
(|) < (31) vE (9)
OR (3r2ran) (?) 3% & @Ig &N
How parks are classified according to character ? (xi)  Abuilding by-law is a .............c......... law.
(a) National
el @ IJUR uld &1 Y aiffga fear = Eb; Eegi;’nal
C 0oca
&7 (d) None of these
5. How are public building classified ? (xi)  fAfeST qra—al dar 2|
4 (31) I
ardsifie ¥ad & v aiffga e & ? (@) widra
SIGIET]
(?) s 9 @i¥ 7

OR(37214T)

What i bye-laws ? What are the purpose of making (xii)  Urban roads are classified into .................

9 categories

(a) One

(b) Three
qE—af T 8 ? 3P 991 BT Q¥ (c) Five
T B ? (d) None of these
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xx) dERTe # ARG & 999 IRR D (Xiv) ARSI e %8 &I 8Idl @ |
..................... @1 dRE HIAT AT B | @) e
(e1) femm @ @
(¥) g3 (@) &=
(\) & (2) aIx
(@) 37 4 *ig T
(xv)  Growth of a towns are according to ...........
(a) Origin
(b) Direction
(c) Both (a) & (b)
(d) None of these
(xv)  TTE} BT fadr™ o P ITIER
BT 2 |
GROUPB
(31) et
Answer all Five Questions. (a) feem
wfl ufg gwt @ SR | dx5=20 (&) <1 (31) T ()
() 3 9 3Ig 781
2. What do you understand by term '"Town Planning'?
What are the objects of town planning ? (xvi)  The provision of green belts are on .............
of town.
4 (a) Center
b) Periphe
MY "TER AISAT § T G 2 ? EC;Botﬁ(a;y& )
IER AISHT & 8T FT-FIT & ? (d) None of these
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